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Faults (C1)[AT,DT]: [0.910000, 0.894754]
- Faults (NC): [0.95088436, 3.05007,

llll]lllll

Shot #: 2613, Param Tree: 72
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Overcurrent Trip (DCPS)

- Auctioneered Data (@idl)

F Conditioned Data (DCPS), Limits: [-1.5000000, 19.000000]
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- FuII Actlon (DCPS) lelt = 1990 OOOO Max 2133 0430 End VaI 2131 8815-
EACLIOI](ICH) Max =2131.87, End Val.=2131.87 - - _
L Full Action (idl), Limit = 1990.00, Max.=2133.04, En
| Shot #: 2613, Param Tree: 72

| Fault Time: 2.8322813

- Faults (L1) [AT,DT]: [0.910000, 0.898754]

al. 2131.87
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time
E DL, éircular, [-0.01148438, 39.9&584]
DCPS, Circular, [-0.014843812, 39.966876]
IDL, Shaped [Displaced], [-0.01406%, 39.9688]
DCPS, Shaped [Displaced], [-0.0 1186, 39.9688
Shot #: 2613, Param Tree: 72
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